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Abstract 

The three-year reign of Mohammad Ali Shah Qajar has been filled with scenes of 

conflict between the monarchy and its supporters and constitutional elements. In the 

meantime, the use of powerful coercive forces to protect the monarchy was obvious. 

Silakhori Regiment from Lorestan region, which during the Qajar period, always 

succeeded in local conflicts and was known for its inherent courage and loyalty, was 

appointed as the Shah's bodyguard and was the vanguard of Mohammad Ali Shah's 

army in the case of bombing the parliament and arresting and killing 

constitutionalists. The purpose of the present study is to mention the reasons for 

Mohammad Ali Shah Qajar's attention and reliance on the Silakhuri regiment in the 

constitutional developments and also the impact of the regiment's performance on 

the society of that time. The research method in this research is descriptive-

analytical and the method of collecting information is mainly library and based on 

documents. Examining the documents, it can be concluded that the conditions 

formed based on the indicators of the Shah's "perceived power" of the loyal military 

forces; "Mental hatred" of people in response to the actions and behavior of the 

government and the military forces attributed to it; Finally, the formation of "attitude 
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of dignity" in the soldiers of the Silakhori regiment was due to the acquisition of a 

special position by Shah Qajar, and although it caused confrontation with his fellow 

countrymen, in the end, the occurrence of war and subsequent conflicts was 

inevitable and inevitable. 
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